=5 4Y/HIE o[0ix|

S

3

I.

A
()

- x4
o

al 7
=<

I.
g
stx2l
22, gxa2

7.
o
[—}
=
M3

I
./\

RO
ol mu pp X0 50

RS- M-

Riom Ko on

M
A
Ul
or ®

1/2

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



[ ]
=S A 2} =2l
ECI2 L el SEx
=M
K
H J
! pun
+ ‘ j }
| o\ |
' =
N I [& H] &
. *\ . :\ | 1
C|A3 2x R
AP=E &
A
3
. P
[ Ay = or2d LA
S
I 1 T
N
17— 1 N
i N7 { 3_
I le -3
N |E§t 4
D
N
E= Q0
ECl2 AZY ug Sum
FEHS ABCDETFG H JKTLM N P R F=2EEHN) EIE]
Nm
K0929.080400 40 50 40 20 6 35 10 53 12 21 85 32 625 M8 x 35 M4x10 15000 25
K0929.100500 50 65 50 25 8 45 12 71 16 27 11 40 74 M10 x 40 M4x12 27000 50
K0929.120600 60 70 60 30 10 50 15 8 20 31 13 48 91 M12 x 50 M5x15 38000 90
K0929.160800 80 90 80 40 15 65 20 10,2 25 39 17 64 115 M16 x 60 M6x20 46000 130

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



